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EDUCATION
Paper - 11

two (2) marks. Attempt all of them.

Education is aspect of
philosophy and philosophy is the
aspect of education.

(A) theoretical, practical

(B) practical, theoretical

(C) dynamic, dormant

(D) dormant, dynamic

The book “The Life Divine” was
written by .

(A) Tagore (B) Vivekananda

(C) Aurobindo (D) Gandhiji
Pragmatism professes for

as a school of philosophy.

(A) 1idea (B) action

(C) reality (D) programme

Secularism means .
(A) The State is to give patronage
to any one religion.

(B) Respect all religions without
favouring any one religion.
(C) Lacking religious emotion,

doctrines and practices.

(D) To impose any particular
religion upon the rest of the
people.

‘Astamarg’ has been practised by the

philosophy of

(A) Vedanta

(B) Islam

(C) Jainism
(D) Buddhism

“The most important outward factor
is the formation of nationalities in
the State.” To which philosophy do
you attribute this statement ?

(A) Marxism (B) Capitalism
(C) Fascism (D) Socialism
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Note : This paper contains fifty (50) objective type questions, each question carrying

7. Which one of the following
principles is not correct regarding
pragmatism ?

(A) Pragmatism  accepts  any
definite/eternal truth or
principle.

(B) According to pragmatists truth
is man made.

(C) Pragmatists support
spiritualism.

(D) Pragmatists stress more on acts
rather than thoughts.

8. Who has formally initiated the
concept of Naturalism in Modern
Indian Education ?

(A) Tagore (B) Vivekananda

(C) Gandhiji (D) Aurobindo

9. “There cannot be educated people
without educated women.” This was
indicated by .
(A) The Resolution of the National

Policy on Education (1968)

(B) The United Nations
Declaration on the Elimination
of  Discrimination  against
Women (1967)

(C) The University Education
Commission (1948-49)

(D) New Policy on Education
(1986)

10. Analytical School of Philosophy was
propounded by
(A) Theodor Brameld
(B) Bertrand Russell
(C) R.S. Piters
(D) Vitzenstine
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11. “Women are human beings and 17. Which of the following is a primary
hence as much right to full group ?
development as men have.” This (A) Peer group
statement was made by (B) Classroom group
(A) Mahatma Gandhi (C) Familial group
(B) S. Radhakrishnan (D) Basketball group
(C) Rabindranath Tagore
(D) Smt. Hansa Mehta 18. Which of the following is the best
i R i mobility multiplier ?
12. é;rsnp(;i Ic)gllrlrlll;zllzctlebl}llv1ng in Education (A) Tncome (B) Education
(A) F. Herbert (C) Social status (D) Caste
(B) Herbert Spencer
(C) John Dewey 19. What is horizontal mobility
(D) Plato associated with ?
13. Who wrote the book ‘“School and (A) Upliftment in the same stratum
Society” ? (B) Upliftment in the upper
(A) Auguste Comte stratum
(B) John Dewey (C) Change in the stratification
(C) Emile Durkheim (D) Consistency in the
(D) Robert Merton stratification
14. “Educational Sociology is neither ) ) ) )
education nor sociology alone but 20. From soc1olog1ca1‘ point of view the
joins them in a new Science by process of education is supposgd to
applying sociological principles to serve two fundamental functions.
the whole process of education.” What are they ?
Whose statement is this ? (A) Selection and Allocation
(A) A.K.C. Ottaway (B) Conservation and Creation
(B) George Payne (C) Preservation and Conservation
Eg)) Egrlii ?‘g;encer (D) Creation and Dislocation
15.  Which of the following is not a sub- 21. Arrange the following books in the
system ? chronological order in which they
(A) Political sub system appeared.
(B) Terrorist outfit I.  Education and Sociology
© Ecogomic organizations II.  School and Society
(D) Family sub system III.  Principles of  Educational
16. When does the process of Sociology : An outline
socialization start for a child ? IV. Dynamic Sociology
(A) Asaschool child (A) IV, II,IandIII
(B) Ag hba hme(rlnber in the (B) I,IIL IV and II
neighbourhoo
© Asi member of the family (© ILILIVandI
(D) As a member of the society (D) IL I Mland IV
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22,

23.

24.

25.

Match items under Column-I with
those under Column-II.
Column -1 Column - II
I. R.J. Brown 1. Education
and
Sociology
II. AK.C. 2. What
Ottaway knowledge
is of most
worth ?
III. Herbert 3. Education
Spencer and Society :
An
Introduction
to Sociology
of Education.
IV. E. Durkheim 4. Educational
Sociology
5. A Sociology
of Education
Code :
I I 11 v
(A 4 3 2 and 1
B) 1 2 3 and 4
<© 3 2 1 and 5
D) 2 5 4 and 3

The term ‘“Untouchability” has been
abolished according to an Article in
Constitution. What is that Article ?

(A) Article 46 (B) Article 17
(C) Article 25 (D) Article 16

Why is the school considered a

Social Institution ?

(A) Because it is concerned with
the welfare of the society.

(B) It is concerned with burning
social issues.

(C) It is concerned with social
evils.

(D) It is concerned with the
shaping of the future society.

Which of the following stages of
cognitive  development is not
described by Bruner ?

(A) Enactive (B) Iconic
(C) Heteronomy (D) Symbolic

26.

27.

28.

The first intelligence test was
developed by

(A) Francis Galton

(B) Binet and Simon

(C) Lavator

(D) William Stern

Match the following lists :

List - 1 List - 11
(Specific (Category of

Characteristics) Children)

(a) One who (i) Creative
shows child
consistently
remarkable
performance.

(b) One who is (i) Under
more sensitive achiever
to child
environmental
stimuli.

(c) One who does (iii)) Mentally
not show retarded
educational child
success
commensurate
with his
abilities.

(d) One who (iv) Gifted
shows  sub- child
average
general
intellectual
functioning.

(v) Delinquent
child

Code :

(@ (b)) () (@

(A) @Gv) () (1) (i)

B) @ Gv) (@) (i)

©) Gv) () (@) (i)

(D) (i) (1) (@) (@)

Rearrange the following hierarchy of
needs as given by Maslow :

a. Safety and security needs.

b.  Physiological needs.

c. Self-esteem needs.

d. Love and belongingness needs.
(A) b,a,d,c (B) d,a,b,c
(©) a,b,d,c (D) b,a,c,d
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23.

24.

25.

HITH Tk & YT T it &f o &l &

THEAT ShITTT
g | Hie-11

[ ThS. 1. TheH s
CIEE BRGNS

II. T&E. 2. 9 Fes 397 A%
e o oy ?

IL 8@ 3. T e
TR peirsiir R v

B Z
[T A
TSR
IV.2.3@9 4. USTohere
ST
5. U Qi@ 3w
TSh
e :
1 I 1III v
A 4 3 2wl
B 1 2 3 w4
© 3 2 1TWWs5
M 2 5 4 w3

Hguw % fF9 SR % AR
“STEITIAT 913, <hl THT h 15T 7T & ?
(A) 3T=T46 (B) =T 17
(C) 3M=g25 (D) 3I=% 16

ToRITeTa Bl Ueh HTATSTeh ST el ST

&, i

(A) TE GHES $ HeAwT ¥ G
gl

(B) T SHCId QHSTh Jal W [T & |

(C) & FrITTeh el & Qe & |

(D) I 9 % FHNT & 907 &
TR |

ARy foe & et
rEEett § | B 9t e H U
TR T el AT T E ?

(A)  Hr (B) W

(C) wWEHar (D) VS

26.

27.

28.

T gfeg URieToT ot forehT foha o
(A)  RIEE e o
(B) fowdwmmad
(C) A
(D) fafeEm TR
fr=teriad gaat 1 i Sifs
et - 1 et - 11
(fafore fagiwar)  (Setent &6t o)
a. Th S oFMAR (i) goreier
Figoicn bl ElGED
ITAR TR
HATE |
b. U ST WEERUIA (ii) 379 U
i C N s | o )
;ﬁﬁﬁ RECENIC]
|

c. Uh ST AW (i) FAME ET
ATt * W Higd aTeteh
FTET VTR
Hheldl  WeiRd
TS |

d. T ST A F (iv) Ufaamemett
F9 difge ThE EigED

HT UGIA BT
g

S :

(v) STeT ST

a b c d
(A) Gv) () (@) ()
B) @ aGv) () ()
© av) () (@) (1)
(D) @) (@ G (1)

31fershA ol qredafeerd hifse

a. T&T TS LT SAATIhAL
b.  RING 3Tewaehdnd

c. STCHITH STITIFHAY

d. U9 US ART Fl STTIHAT
HE

(A) b,a,d,c (B) d,ab,c
() ab,dc (D) b,a,cd
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29.

30.

31.

32.

33.

34.

According to type theory of
personality, a tall, thin and stoop
shouldered person will come under
the category of

(A) Endomorphic (B) Ectomorphic
(C) Athletic (D) Pyknic
The concept of  emotional

intelligence does not involve the
ability to

(A) understand emotions

(B) regulate emotions

(C) appraise and express emotions
(D) arouse emotions

In the formula SER =D x SHR x K —
1, K denotes

(A) Habit strength

(B) Incentive

(C) Dirive

(D) Excitatory potential

The correct sequence of the
following items of  Gague’s
hierarchy of learning is

a.  Signal learning

b.  Problem solving

c.  Rule learning

d.  Multiple discrimination

(A) d,c,b,a B) c¢,d,a,b
(©) a,d,c,b (D) b,c,d,a

Which of the following is not the
axiom of learning ?

(A) Simple to Complex

(B) Specific to General

(C) Tangible to Intangible

(D) Known to Unknown

Critically judge the following :
Assertion (A) : Learning of
principles has to be given

utmost importance in the
classrooms.
Reason (R) Knowledge of

principles facilitates transfer of
learning to a greater extent.

(A) Both (A) and (R) are incorrect.

(B) Only (R) is correct.

(C) Both (A) and (R) are correct,
but (R) is not a correct
explanation for (A).

(D) Both (A) and (R) are correct
and (R) is the correct
explanation for (A).

3S.

36.

37.

38.

Critically judge the following :
Assertion (A) : Early admission to
school is not scientific.
Reason (R) : It 18
democratic principles.
(A) Only (A) is correct.
(B) Only (R) is correct.
(C) Both (A) and (R) are correct
and (R) is the correct
explanation for (A).
(D) Both (A) and (R) are correct,
but (R) is not a correct
explanation for (A).

against

Critically judge the following :

Assertion (A) : Classroom
instruction  should involve
variety of strategies.

Reason (R) There are
individual differences in
Learning styles among
students.

(A) Both (A) and (R) are correct,
and (R) is the correct
explanation for (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation for (A).

(C) Only (R) is correct.

(D) Only (A) is correct.

A researcher studies the effect of
peer group interaction on Learning
styles. The variable ‘Learning style’
in this study functions as :
(A) Independent variable
(B) Dependent variable
(C) Controlled variable
(D) Intervening variable

Which of the following may be most
appropriately used for measuring self
confidence ?

(A) An Aptitude test

(B) An Archival test

(C) An Attitudinal test

(D) An Achievement test
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29.

30.

31.

32.

33.

34.

Hferical o YR T o 3R, U6

ST SIoTt & a7, % ST &

(A) HeTrehR (B) <H=IRR

(C) Tuxiew (D) TUHH®

GeTTeHe g ! STTIROM § -7 5 &

I G g FEATeTd 1§ ?

(A) T S HESHT |

(B) o i e o |

(C) o H  erfvefm @R
Teieh |

(D) TR Sl ST AT |

TISER =D x SHRx K — 1, H K &l

AAE

(A) omRdsed  (B) WROm

(C)  WuTRH (D) STISHICH &THdT

T Y e Y ST | e Ut

TR Y ?

a. Teha 3

b. U GEYH

C. Tagia st

d.  Sgfoseda fasdiemioT

(A) d,c,ba (B) c,d,a,b

(© a,d,c,b (D) b,c,d,a

e o o @ T o g @ ?
(A) T Y HST 3R

(B) fafere & @ ot 3R

(C) YI ¥ 3 &l 3R

(D) T 3T ot 3R

1 Rt et ity

AMUR-HAT (A) : Fe 4 fogidl &
AR A G 3TMyeh Hew &
S =T |

HROT (R) : [Hsidl 1 A T &5 dh
ST 3 TR0 § GEH ¢ |

(A) M (A) 21 (R) T Tei e |

(B) et (R) WETE |

(©) (A) @ (R) 3 @t &, fog
(R), (A) T T& HRUTTET & |

D) (A) 3R (R) IHf War & =
(R), (A) FT T&T HROT A € |

3S.

36.

37.

38.

=T =) e STy

ATIR-HAT (A) | TpoT H SToat Ja9T
AR TR E |

FHRUT (R) : Tg AhdiEeh gl &
foes e |

(A) et (A) TEIE |

(B) et (R) WETE |

(C) (A) 3R (R) IHf War & @
(R), (A) T & HRUTE |

(D) (A) 3R (R) 3 W &, fog
(R), (A) & T&l RUTTET € |

1 =t et ity

AMIR-HAT (A) : T H TATT-FH
T TE-E I e |t
T =T |

HROT (R) : BET 1 AT diet |
e fafg=am € |

(A) (A) 3R (R) SHf W@ & =
(R), (A) T & HROTE |

(B) (A) 3R (R) g W &, fohq
(R), (A) I T&l RUTTET € |

(C) et (R) WETE |

(D) et (A) WEIE |

I Il AR el W e
FAfpa & UM T ST AT
qEATE | 39 31T | AR et
(A) TEEE |

(B) AT |

(C) fEfa=E |

(D) TEHEAEE |

=1 T Tohgehl STTcHTaaT & AT |
TR feRaT ST el & 2

(A) STt wieTor

(B)  3YeiETcHes uRieTor

(C) g uRiefor

(D)  SUCIe TRyeToT
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39. Which of the following statements is 45. When is the Type-I error increased ?
not applicable on the data in a (A) When alpha-level decreases
descriptive  research ? (B) When alpha-level increases
(A) It may be qualitative, in verbal (C) When the sample size
symbols. increases

(B) It may be quantitative, in (D) When the sample size
mathematical symbols. decreases

© may be qualitative and 46. Which of the following poses a
quantitative both. . Lo

(D) It is only qualitative, never threat to internal validity ? )
quantitative. (A) Interference of prior

treatments.

40. Which one of the following indicates (B) Interaction effect of
the higher level of significance ? independent variables.

(A) 0.10 (B) 0.001 (C) Interaction of  treatment

(©) 0.01 (D) 1.00 variables.

41. Which of the following statements is (D) Interact%on of selection and
maturation.

not correct ?

(A) A test cannot be valid without 47. If the alpha level of a particular test
being reliable. is lowered from 0.05 to 0.001, then

(B) A test can be reliable without the risk of committing Type-I error
being valid. will

(C) A test can be reliable and valid (A) increase
both. (B) remain unchanged

(D) A test can be valid without (C) decrease
being reliable. (D) not be predictable

42. Two characteristics of Ex Post Facto 48. In case of ANOVA, what is between
research are sum of squares ?

(A) Randomization and (A) The wvariance caused by
comparison of groups. treatment variable

(B) Non-manipulation and (B) The variance caused by the
randomization. difference within subjects

(C) Non-randomization and (C) The variance caused by the
manipulation of independent extraneous factors
variables. (D) Total variance of  the

(D) Non-manipulation and non- dependent variable
randomization. 49. Which of the following methods

43. Which of the following is a non- should be used for establishing
parametric correlation ? reliability of the Questionnaire ?

(A) Product moment (A) Test-retest method

(B) Rank difference (B) Split-half method

(C) Point Biserial (C) Parallel form method

(D) Partial (D) Rational equivalence method

44. What percent of IQ scores lie 50. Which of the following is an
between 85 and 130 in a normal example of a qualitative research ?
distribution with a mean of 100 and (A) Descriptive survey
SD of 15 points ? (B) Experimental study
(A) 79.85 (B) 80.85 (C) Ex Post Facto study
(C) 82.85 (D) 81.85 (D) Case study
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39.

40.

41.

42.

43.

44.

= § 9 o7 @ U faerones

3T % I & {10 Wt T & 2

(A) TE ISE-IAB H TONHE @l
HHaATE |

(B) & TIUTCH Weftehl H URHTOTCHR
VGHAE |

(C) T& TONCHE AT URHTUCHS

(D) T el U & W

= § ¥ %= 9 gere™ sl o
HTehelT o1 TR ST & ?

(A)  0.10 (B) 0.001

(C) 0.0l (D) 1.00

01 o B |1 e W T ?

(A) g TRIeI0T fovedEdT & fomT
A TET & TeheT |

(B) HE UIET duar & oA

(C) g TeIur 9y a4 faverg=a

(D) g WRIeIuT foveadT & fomT
oIt T BT HHATE |

fopl} sprTe ey ot &t Tarewad oy o
YHAEE ?

(A) TTGSHIRT qAT TR B

qoAT

(B) TR T &I e, ATG oS ehIchoT

(C) ACFIHIHTT T T T
TR T &

(D)  ETHT e, ATGehiehRoT o Tl

11 o 9 i 91 STt Tedsy € ?

(A) WieE qHeS

(B) A 3

(C) e = AiRget
(D)  3Ni¥Te

T g foaeor |, Seenr weae
100 AT TR foreerT 15 €, 85 O

130 & s fere ufdere ureies g 2
(A)  79.85 (B) 80.85
(C) 82.85 (D) 81.85

45.

46.

47.

48.

49.

50.

T TR bt Jfe el Sl & 2
(A) 9 FCH-ER TATE |
(B) 9 eH-TR GoA1 € |
(C) RS |
(D) 9 IR AT |

=1 7 @ FF 91 AR o & forw
A E ?

(A)  JI-3UT 3@

(B)  cH =R i 37 Tshan &1 U
(C) SUE-TRI I AT

(D) =& T qROgedT i 3T

g TRl TRIRT0T o STEH-TR S 0.05
T 0.001 T =T AT W T TIH ThR
1 < B T @A

(A) = |

(B)  3maRafad & |

(C) =& |

(D) D 7T el ST Hehell |

ANOVA & v § foedi= 99 3%
T FE ?

(A) U =R R Grod TRt

(B) AT o 3R gRT Gieter yeRor
(C) eI =R §RT Yroied TR

(D) TS =R T goT U=t

et TeATEeT ot favaEaT i
FH & fow = 7 9 w= 9@ fatyg
IUGHT & ?

(A)  TRHETOT-guteTor oty

(B)  31d-Tossa fafy

(C) THFIR Urey faty

(D)  TfeRsh GHETCT faTy

= & @ $F 9 TS W
SRR E ?

(A)  TUHTHE ToRToT

(B) UAITIcH® 3Teqa

(C) HERR AT

(D) =Afe-3reEaT
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